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% g R - KSR Bifr B 2 B i & B W =
BRI 57,649,680 + 5,323,620 62,973, 300
BEEAGE 57,649, 680
BE#RE 5,323, 620
T DR 57,649,680 x 42.86% ( 30% =~ (1 — 30% ) ) 24,708, 652
BRI 62,973,300 + 24,708, 652 87,681, 952
—REEES 87,681,952 x 53.85% ( 35% ~ (1 — 35%) ) — 8,683 47,208, 048
KBS 87,681,952 + 47,208,048 134, 890, 000
HETREALE 134,890,000 x 10.00% 13, 489, 000
EBEREN 134,890,000 + 13, 489, 000 148, 379, 000
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TEEMNE HEm (A)
A 1.40 55, 200. 00 71, 280
& Hi 1E%HED - 1.008 71, 280.00 71, 280
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& EREEHMESQ BURME (BBEAER - IRE) 1A&4Y
2 b g - BIRTE BT H = B O %8 W E " =
e e HEm (C)
= 1.00 2,266, 140. 00 2,266, 140
& Hi 1E%HED - 1.008 2,266, 140. 00 2,266, 140
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&% TAEE HEED)
2 b g - BIRTE BT H = B O %8 W E " =
TEEMNE HEm (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHER - 1.00[E 217, 600. 00 217,600
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2 b g - BIRTE BT B = B Ol %8 W = " =
& FHF HEm (A)
A 0.50 55, 200. 00 217,600
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A 0.50 55, 200. 00 217,600
EBTTH HEm (A)
A 0.50 55, 200. 00 217,600
& Hi 1E%HeH - 1.00K 82, 800. 00 82, 800
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2 b g - BIRTE By = BHO(f %8 W = " =
EXERARE
= 1.00 543, 873. 00 543, 873
& Hi S .00 543, 873. 00 543, 873
ES .6
2% EERERRE 1LY
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& Hi 1E%HeH - 1.00K 3, 600, 000. 00 3, 600, 000
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2 b g - BIRTE By = BHoO(f %8 W = " =
EBHRERERE
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& Hi 1E%HeH - 1.00K 92, 000. 00 92, 000




